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=4967.106689 (¢, =4.79%)
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8 5 GaussHISKFH /T

2. GaussB kIR AR FIRE

M. f(x)eC®™|ab] W 3F&e(ab), 115
R(E) = [ 00 f 0)dx=3 A F (%)

ARG I
=~ on) | PO)@E (x)dx

(2). &5 f(x)eC(a,b), Gauss H kT
4 n—oo NS T EMIME
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8 5 GaussHISKFH /T
3 JLMHE HKIGaussEISKFR A F

(—) Gauss—LegendreskfRAR,

[-11] EHFREH p(x)=1 K Gauss EIKIAAF
[ F(x)dx~ Y A F(x,)

Gauss & {X.} A n &k Le&indr%lﬁiﬁ

P00= 51060 i 0 A

\ SMAE. N 2
> VAYAN N = 2 k=1121'”1
RPRER A= e ( K

Ny = | ) _ 22n+1(n!)4 2n
HEWRZEN R(f)= (zn+1)L@)g3f( (&) Ee(-1))

L F R




(=) Gauss— Chebyshevsk 1A=

[-11] B A R 2 p(X) = \/:7)( 1] Gauss BIsRFRAR
J‘l\/%dxwaA f(X,)
Gausskix, =C0Ss Zl;n L 7 (n=1,2,---,n) An{XChebyshevZ T =,
T_(x) =cos(narccosx) FIn M2 &

KRR A<—— (k=12,---n)
Gauss— Chebyshevzk R A A jl«/ﬁ nkz;f(cos

AT R(f)=22n_1’22n)! £E0(8) Ee(-11)

L F R



(=) Gauss—LaguerreskKiI 2=,

[0,40) FTANEREL p(X) = e *H Gauss B FR A K

[ e fdx= Zn:Ak f(X,)

—X n

{xk}ﬁgn% NT
RETREN __ @ K12
A e "
Ny = » (f] ) (2n)
MwigEn RD=p 170 £eOrd
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